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QUESTION 1

A customer is running a virtualized application with the data stored on their server\\'s local storage. As the storage
space is getting full, they are looking into a new storage system. Their IT generalist would like to use a single
management interface for the new solution. 

Which solution should you recommend to the customer? 

A. HPE Nimble HF20 

B. HPE MSA 2052 

C. HPE SimpliVity 380 

D. HPE 3PAR StoreServ 8400 

Correct Answer: C 

Reference: https://h20195.www2.hpe.com/v2/getpdf.aspx/c04199812.pdf 

 

QUESTION 2

Which HPE tool combines performance metrics from multiple arrays? 

A. NinjaStars 

B. SAF Analyze 

C. NinjaCrawler 

D. SAF Collect 

Correct Answer: D 

Reference: https://h20195.www2.hpe.com/v2/Getdocument.aspx?docname=a00008572enw 

 

QUESTION 3

DRAG DROP 

You proposed a Nimble AF60 solution with 8x 10GbaseT ports to a customer. The raw capacity is 167 TiB. 

The customer\\'s growth expectations have changed, and they now request a solution that supports 334 TiB of raw
storage instead. 

Which benefit is gained by each proposed solution? (Choose all that apply.) 

Select and Place: 
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Correct Answer: 

 

 

QUESTION 4

DRAG DROP 

You propose a Nimble HF40 solution with 4x 10GbaseT ports to a customer. The raw capacity is 500 TiB. 

The customer\\'s growth expectations have changed, and they now request the solution to support 1000 TiB of raw
storage. 

Match the possible update to the solution with the description. Choose all that apply. 

Select and Place: 
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Correct Answer: 

Reference: https://nimblestore.co.uk/wp-content/uploads/2018/05/Nimble-Storage-Adaptive-Flash-Arrays.pdf 

 

QUESTION 5

You created a DL380 Gen10 server proposal using HPE 400 GB SAS 12 G SFF drives; however, your distributor
notified you that the drives are not in stock. 

Which HPE tool should you use to find a suitable replacement SSD model that is in stock? 

A. SSD Availability Matrix 

B. HPE Storage Sizer 

C. HPE Product Bulletin 

D. SSD Selector Tool 

Correct Answer: D 
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